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The health of cities |
San

ike New York, Los Angeles, and

Francisco represents an astonishing turnaround
from the past, when (A)[density / isolation] too often
death. Throughout

proximity enabled the spread of infectious diseases that

meant most of human history,
struck down those humans who had the boldness to

risk living near one another. Huge investments in
massive waterworks were needed to (B)[curb / predict]
the spread of cholera and yellow fever, just as huge
investments in policing were needed to reduce crime in
the 1990s. The massing of millions in small land areas
requires sector to

a vigorous (Q)[private / public]

combat crime and illness. This perhaps explains why

people in New York are so much fonder of big

governments than people in rural Kansas.

Point 1. paraphrase2| HIZt
- K D.
history

: from the past => throughout most of human

- Agent: density => proximity

- Action: meant death => enabled the spread of

infectious diseases that struck down those humans ~

Point 2. Raising Issues + Suggesting Solution?| HIZt
- Issues: The massing of millions in small land areas
requires a vigorous public sector to combat crime and
illness.

- Solutions: people in New York are so much fonder of

big governments than people in rural Kansas.

Point 3. What is the title of the passage?
Why Do Metropolises Need Mega-size Governments?

Point 4. Sum-Up Sentence
Because of the public hygiene and the crime control,
modern cities necessitate bigger governments.

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

A) 5 EHOAM proximity2 &[T Ql
OSB82 densityZ} EQ

B Fol LU= 0| toi| M
reduce crimel}t Z2 nuance?} I|&
M reduce?} ZE
7|. ElR

(C) Y220| huge investment L} F

just as

connotation?| curb

o] L& governmentE E3|| public

sectorg 9=

& Vocabulary

- astonishing turnaround:
Seh2 Me/Hst
- proximity:
2Ed, ke, 28

- boldness: CljEtst

- curb: restrict, hold down
- mass: v. [§ X|0{ 2O|C}
- vigorous: a. st Aot
- be fond of ~ :~2 ZO}3s}LCt,

= revolution

& Grammar Points

- The health of cities like New York,
Los Angeles, and San Francisco
represents an astonishing turnaround
the [which / when]

density too often meant death.

from past,

- The massing of millions in small

land areas [require / requires] a

vigorous public sector to combat

crime and illness.

IO

& Translation
=82 AWM A 2T M
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HEs H2? ( o
“Moral rights" are a special form of copyright
protection that exists only for works of visual art. When
an artist paints a mural on a building, his moral rights
attach to the artwork even if he actually sells the
(A)allow /

forbid] him to prevent even the copyright owner from

copyrights to the art. His moral rights
destroying, damaging, or changing the artwork. The
primary authority for moral rights in the United States
is the Visual Artists Rights Act of 1990. Moral rights
have a (B)[narrower / greater] scope in other countries
in that they cover other types of copyrightable things.
In the United States, the artist's moral rights may not
be transferred or end upon the artist's death. Just as
copyrights may be transferred in writing, moral rights
may be (C)[claimed / abandoned] if done so in writing
too.

Point 1. L2 U X0 E(HAIOIZA 0| CHSH AT
© 2 MZoES AT Exjots S48 HEfo| X
AH 2ot

@ Ool&7t7h EfeIofA
i3 XEtoIZH AL

INESE: =y I1H7*3HE a ol==Eol
H9| o=7tollAl ACE
® FOE S MEHHAS L[/ IfEf e XEAUHA
mj=ofl xtale| Aoz =HFS uha|StAHL HHE = iCt
@ O[=0M2| MZEAAAM CHeH HA A= 1990
14 VARA(Visual Artists Rights of Act)0f| UL}
® MEIHMo| WFE 0]F0| ofdl CH2 Lizte] Zo

I:'I H2 YIS ZEoict
® O=0Me Ols7tel MEAAMOl 1o F5 FAl &

ELp ABE|R|E QECH
@ Ygt HIAL OETINR MES
g Aol olgvtel MIeIHAS Eo|/2BEC

Point 2. 22| X

The definition and characteristics of "moral rights"

Point 3. LAl A|™ O (done so7t 7t2|7|=
Just as copyrights may be transferred in writing, moral

LH-E)

rights may be abandoned if done so in writing too.

=> ~ if they are transferred in writing too 2| 2|0O|

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

- (AYM allows= caneo| olO|IE

preventO| H20|X|2t, forbide= can't

o o0j& HEO|EZ, o7& "XEQl

A GHE0| ~5F7t o&E2 ot/

HEA7l= A2 UE = A9 9
=Y

0/o|E2 2 allowed7t Gt
- (B) in that ~ O|3S}0|A{ "cover other
types of copyrightable things"& S 3f
greater& 9=

- (C) Just as O|&}0jA transfer(¥x)

Jb Jbssictn oDz, o Pl
"FEIHE"9 20| Tl

abandoned”} 2}0f &

& Vocabulary

rH

moral rights: X %0l
attach to: ~0 Z2}£Ck

1 MEHE X
in that ~ : ~2l= HO|M
(H/8H) Frsict
abandon: H2|C}, Z7|8}Ck

transfer:

& Grammar Points
- Moral rights have a greater scope
in [that / what]
other

in other countries

they  cover types  of

copyrightable things.

- Just as copyrights may be

transferred in writing, moral rights

may be  abandoned if [doing /

done] so in writing too.

& Translation
KA AAH'E A2 o EHEO Cf
siMot Exfete MEH moo| £
ob FEjo|Ct Bt BIE7E HEO| H
£ 1% o, "2 371 A= 1 &
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People overestimate their ability to understand why
they are making certain decisions. They make up stories
to explain their own actions, even when they have no
clues about what is happening inside. After they've
made a decision, they (A)llie / listen] to themselves
about why they made the decision and about whether
it was the right one in the circumstances. Daniel Gilbert
argues that psychological
that that
confirms our good qualities and (B)[accepts / ignores]
information that casts doubt upon them. In one study,

of Harvard we have a

immune  system exaggerates information

people who were told they had just performed poorly
on an IQ test spent a lot more time reading newspaper
articles on the shortcomings of IQ tests. People who
had been given a glowing report from a supervisor
developed a(n) (C)[decreased / increased] interest in
reports how smart and wise that

reading about

supervisor was.

Point 1. HIZIEE ZX7bs4 111

Agent Action (self-justification / rationalization)
overestimate their ability to understand why they
People . . .
are making certain decisions.
make up stories to explain their own actions,
They even when they have no clues about what is
happening inside.
lie to themselves about why they made the
they decision and about whether it was the right one

in the circumstances.

exaggerates information that confirms our good

hological
psychologica qualities (™ X})

immune - - -

ignores information that casts doubt upon them
system .

(=%

o Al o Al

IQ | (Z X2 | spent a lot more time reading newspaper articles
42) on the shortcomings of IQ tests.
IQ 1t (MXtQ| | developed an increased interest in reading reports
4%) about how smart and wise that supervisor was.

Point 2. What is the best title of this passage?
How Our Psychological Defense Mechanism Works.

Orbikr UNB English(ZI2FZT)

& Tips for Solutions
A) X 2 F BR 2F0
M Lt2tE  overestimate /
make up(X[O{LiCHt Z2
YAZ DS liest X3
(B) 'and'0ff oot LtEHO| O
MM 20 UAes confirmit
zkl= FYA7 Hagez
ignoresZ} Xt
€ Hde /g2 Lot
Al

ato 2 glowing report7} A%

ool

742 our good qualities
2 (OQHE confirml} &
=

= —

[0 rlr

FEAZE Hagh MEbA
TS| MEEE =0

&0| Z[0jof gtz
increased?} Xt

SES

N > rlo gpo ot
oot

SR

& Vocabulary

- make up: X|O{LHCt
exaggerate: 1}3SHCH
confirm: ZtQISIC}H

- cast: EL|C}
shortcoming: EtH, Z2H

glowing: HlLt=

& Translation

9 xp4lo| ofH ZFE Lz
1 YEXE o £ Ues XA
s DCHEILSCE 352 MX[ Y

43
tE50M R& 20| LojLtn Us
|

=1
X|of Cfst Of CHMEZE JHX|Z QUK
2E M EAE Kp7| KHAO| WES A
Btz 98l o|of7|E X|ojdict HH

el oz 152 of 18 Z2F
LH=X0 ofsf, 222 2 2
o O d&oilM &2 AOIA=XI0f O
sf Xt7| RpAE 7|BtetCh Harvard2)
Daniel Gilberte 2|7t XAlo| £
AHEE ol FE YEE s
3 MEO oSk of5E H7|oks &
= FASHE d2H HY HAS KLY
o AF0IM, 1Q
XYL TS
B2 AIZE
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HHMEL HEXZEEH OfF



CEE U @TOP

4., B), (02 % TS Qtojx
N HL? ($55Y 17 48

To=o
Did agriculture improve or hurt human nutrition? The

2of o

—_r
Mo

HEHE 7HY

rir

conventional wisdom has always been that agriculture
food and a more secure livelihood and
the (A)[adaptation /
idea was challenged and tested in a

provided more
that this
adoption]. This

was reason for its

major research agenda some years ago. The results
were stunning and clear. Skeletal evidence showed that,
everywhere in the world, hunters and gatherers were
reasonably well nourished, but agriculture led to a slow
increase in population and a slow (B)[deterioration /
As
people turned more and more to starchy foods - not

improvement] in nutrition. numbers increased,
adequate nutrition in themselves. Only very recently,
with the

modern means of shipping and storing, has agriculture

rise of refrigerated transport and other
fulfilled its promise of providing really adequate diets
to a huge population. Even today, billions of people

live on unbalanced diets, too starchy and too thin on

the nutrients that hunter-gatherer diets provide in
(O)[abundance / vain].

Point 1. =AH| &

M A|l2: Did agriculture improve or hurt human nutrition? The

conventional wisdom has always been that agriculture provided more

food and a more secure livelihood and that this was the reason for

its adoption.

1. This idea was challenged and tested in a major research agenda
Skeletal
evidence showed that, everywhere in the world, hunters and gatherers

were reasonably well nourished, but agriculture led to @a slow increase

in population and a slow deterioration in nutrition. (WHY?)

some years ago. The results were stunning and clear.

2. (Because) As |numbers increased, people turned more and more to

starchy foods - not adequate nutrition in themselves. Only very
recently, with the rise of refrigerated transport and other modern
means of shipping and storing, has agriculture fulfilled its promise of

providing really adequate diets to a huge population.

3. Even today, billions of people live on unbalanced diets, too starchy
and too thin on the nutrients that hunter-gatherer diets provide in
abundance.

- only very recently => Even today (Z&°| HEZA)

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

(A) adaptation2 7|&9| AE 7tX|1

Mot A HEBATI=  AYLEH
adoption2 MZ A HotE2ICtE
YL 582 MER 718 MY/+
Hite ™3| O E MER HA

(B) 2ol UAe buto] 2B well
nourished@} CHX=E HAMslofst. 2}

A deterioration

(O 2ol A= too thinute| CHZEQ|
AATF Q. m2tA abundanceZt
St

=

ikl

& Vocabulary

- conventional: 215X, MEXCQI
- adoption: =&, XH&H, QQf

- agenda: (¥7/3]9))

- skeletal: 2Zi9|, s|=9|

[¢]

- deterioration: 23}, I}
- turn to: o|&3}Ct

- abundance: £8, £9

& Grammar Points
Only very recently, with the rise of

and other

shipping
storing, [has agriculture / agriculture

refrigerated  transport

modern means of and

has] fulfilled its promise of providing

really adequate diets to a huge
population.

=> [only + EANF/R)7H EF0CH]

2 LZ2=2N WSt FO/SAtY
EX| sy

& Translation
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=
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Z2olA| @2 A2? (5% 18 58)

Many sayings contain germs of truth, and some are
indeed profound, but they aren't reliable sources of
knowledge and can be @®misleading. For example, take
the saying 'You can't teach an old dog new tricks'. This
isn't true of all dogs, and certainly isn't true of all
human beings: there are many older people who are @
capable of making radical leaps in their ability. This is
not to deny the effect of ®ageing. The point is that
what is roughly true, that as we get older it becomes
harder to learn new behaviour, is not true for everyone
in every respect. At most the saying capture the idea
that it may difficult to @maintain the ways of an older
person. However, the saying implies that you can never
teach any older person anything new, which is a hasty
generalization and one which is fairly obviously ®false.

=> This7} %20l LI0|S HOjT HGHQl UHG 3}
S AFEO| ECHE w2 4 oo, of 2HO| §HY
'2B5 QW'Y 4B 48 2F0| The point 0[5}t
Mysin A

Point 2. HIZt9| point
The point is that what is roughly true, that as we get

older it becomes harder to learn new behaviour, is not
true for everyone in every respect.
Lot= tat[hasty

=> 0] =0jAM daotn AR =
h is f obviously false]'9Q|

generalization and one which is fairly

=HEE 7tE & mEotan e 28

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

@2 ZEO| B=dt=
M3 Qe XEYesE,
tricksQ| HYATL =Q. matA, Lol
=9 7|& WA E RXIst= AO| ot

"HFRCHLE "HE|CHe| F AT Ha

olb|g

29

teach new

& Vocabulary

- germ: 1. M&
2719, &

germs of truth: QO] ApA

- radical: SXI™Ql, &A™

- leap: = 9F H|<F

- roughly: CHEF, CHZ, JjEIN o2

- imply: 2A|SICE A|AFSICH

- hasty: Z2%t = rash

=> M2 9 =X X}t EoE M

EWX|0f rash7}t L2 JbsA0| Y

& Grammar Points
The point is that
true, [that /which] as we get older it

what is roughly

becomes harder to learn new

behaviour, is not true for everyone
in every respect.

> 2o QU= ‘what is roughly true'
| W82 FHAESE BAH HYst=
79| 'that'0| Z Q3 Xt2|

FAICH A 2% SHOo|aln MZ

sl =LY o=l

o o

%
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A classic example of a rule-based error occurred in
1986 with the disastrous
Shuttle Challenger, even

decision to launch the Space
when the engineers warned
against it. The decision was taken, against technical
advice, because the management team concerned were
applying rules which ®focused on building up public
interest and attention. The fact that the Shuttle was
about to carry the first civilian into space was an
important part of that. Putting off the launch, they felt,
bad PR, (@adverse

consequences on funding. At it happened, however, ®

would  be and might have
ignoring the engineers' warnings was even worse. It
meant that the Shuttle exploded, killing everyone on
board. The rule of @risking bad PR isn't a bad one,
but in this case it was applied in exactly the wrong
situation. And the negative consequences for the space
programme as a whole, not to mention the families of
those killed, were far more serious than a (®delayed
launch would have been.

Point 1. O] 20N ==t
(1) management's rule: avoid bad PR

ol L
AT T

Hx|
(2) engineer's rule: technical advice / engineers' warning

Point 2. What "bad PR" means?
=> Putting off launch / delayed launch

Point3. O{EI=X|7}=Md

(1) the management team concerned were applying
rules => X HA} team

(2) Putting off the launch, they felt, would be bad PR
=> FO{AtE] SFA

(3) the the
programme as a whole, not to mention the families of

negative  consequences for space
those killed, were far more serious than a delayed
launch would have been.

=> 7b4Y DAHAZ + “were serious"0f CHSH CHSA}

Point4. What is the best title of the passage?
We Sometimes Need to Bend Rules!

Orbikr UNB English(ZI2FZT)

& Tips for Solutions
ol 2o x|7t "nx|AlsH

.EL
of E&sts A0 & F2 A2
Ct

o
-
o
]
rir

bl
o

riskingO|

—
otsh(=> riske=

‘YEe 2E4T ~drres 3

Ho| HUAZ ST [E)

& Vocabulary

disastrous SRS

launch SEAFSICH

space shuttle 23 Y4=2M

concerned L

build up ~2 § &0|C}

put off ~& A7|SICt

adverse EHZAQl, =2|t

funding M X

explode Z2tsICH

on board EbSE

as a whole raps pSEeN=]

& Translation

1986 QAX|L|0jS0| 10f EiCHst=

d41E M=z fF 5

Challenger S & HfAISHZ|2 3t BH

st A%Oo| WeEezM Ao 2H

o M=o THEMQl Ataf| Sttt Ll
=

Lk 1 2FE2 JEeHY =2 B

Alst W= e 22 "ol of

s

5o zOjot BUS o 0= A
5H2 & 752 M1 AN
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e

20|
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1 )

If there is to be toleration in the world, one of the
things taught in schools must be the habit of weighing
evidence, and the practice of not giving full @Mconsent
to propositions which there is no reason to believe
true. For example, the art of reading newspapers should
be The should
incident which happened a good many years ago, and

taught. schoolmaster select some
@roused political passions in its day. He should then
read to the schoolchildren what was said by the
newspapers on one side, what was said by those on
the other, and some @biased account of what really
that
everything in newspapers is more or less @untrue. The

critical skepticism which would result from this teaching

happened. He should make them understand

would make the children free from overly ®naive
appeals to idealism in later life.

=> 20124 +=5E2 12 6 =X XZ(UHH 0%

)

Pointl.
- weigh evidence

ZH|2| paraphrase

- not giving full consent to propositions which there is
no reason to believe true.

- understand that everything in newspapers is more or
less untrue

- The critical skepticism

- free from overly naive appeals to idealism

Point2. What is the Main Idea?
MMM HOol= MEO| CISHME HEXoz H

asle S StmJF JF2K0F SO}

gkt

Point3.
(1) the giving full
propositions which there is no reason to believe true.
=> OfX| Z29| “that"X & EO|X|Zt believe?| EX0| 7|
s= St= ZHATIEAL

(2) He should then read to the schoolchildren [what /
who] was said by the newspapers on one side

=> 20| schoolchildren0| M&iAlzt D £0pM OF &

HEM 7tsd

practice of not consent to

ol
AT

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

@HE A0|A one sideo| ¢!
&1} the other sideo| UES
JOIFD LN & WES F2
Sjof o= Xi2|¥e2 fair /
neutral 50| Mgtst

VI

& Vocabulary

toleration 2+8, Q1™ s}7|

weigh A&3| nedsiCt,
FAZE L

proposition Xl&, o A El

a good many e

do7|Ct, MSdiC

account A

rouse

—_—

more or less CtAZF LOpZt

skepticism 3|92
overly X|LEX|A|, t=5tA|

naive =ZIoh X| Aot

A

appeal

& Translation

O] M&of 280| Aoz H™
oM ZIEXOF & A F9|
SHE MBS D= &
2|0 ARMOIEtD g Ttet 2
7t gl= TeEo tigiMe= HA
S2|E SHX| U&= S 0|ofof
Ch O =9, M2 2e 7|
= 7tEXNO0F ot WA= T
o 2ol O ShA0] "X
ool A¥Z 2HYezE AtA
StLEE MASHOF oty Oy L}
M A o= Bt ZEEOIA A
250 23 W8, E CHE &
oM MESO0| Bt &, O
20 MAE Lot Lo cHpt =
Ao XX (->3H™shH o™ T|A
£ 9l0f 0{0f BiCt. SEOE ot
oz AZE0f Az 2E W{EO| o
L HEE= ZIM0| ofLElE A2
e E sjoFgict Ol 7tEX S
ESFH 47A 2 HEHA 3oE
EE0| OE0|E0| LI=2l 2f0fAf
O|&Z=olof CHEE X|LEX|A =%l

'
SA2 RE I X 4 2
zo]ct.



CEE U @TOP

o =
8. Lt 22 €& tl &2 & =Yg EZ2 &Yool H
. () () = E
HoMX| 2 A2? (=554 14 8H)

To most people, the difference between mathematics

and literature is apparently simply from comparing the

Dappearance of a mathematics text with a literary one.

There is a "language" of mathematics with its own

symbols and terminology, @mysterious to nonspecialists,

while most literary works are written in language which,

if not always of the "everyday" kind, is at least familiar.

In artistic texts such as novels or poetry, we find that

the particular

words

a writer

uses are of great

importance to the aesthetic effect: it is often remarked

that
translation.
different:

poetry, in

particular,
With mathematics,
we could even

®loses
the situation
say that
concerned precisely with those things that are @

something in
is quite
mathematics is

variable under linguistic translation. In that sense there

is not

really a

"language”

of mathematics;

rather,

mathematics is an abstraction of whatever can be said
®equally well in any natural language.

Pointl. 79 Hz|

(translation)

mathematics literature
-its  own symbols and | -if not always of the
appearance | terminology, "everyday" kind, is at least
-mysterious to nonspecialists | familiar
-those  things that are
invariable under linguistic | -great importance to the
meaning translation aesthetic effect

-an abstraction of whatever
can be said equally well in
any natural language

-loses something in

translation.

Point2. HI7+9| Point (Paraphrase)

- those things

translation.

that are

invariable under

linguistic

- an abstraction of whatever can be said equally well in

any natura

| language.

Point3. &% Y 7| Point

With mathematics, the situation is quite different.
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